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Q3.Calculate the volume of 0.5 nn ffCt solution'needed to neutralize

A.2 ml B.4ml C-6ml
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B. 4.1 x 105 C.4.1 x 10e

2-Lead melt at 60L.0 C. what temperature isthis in

4.302 F B.365F c. 1,050 F D. 1,114 F

3- The number 1.050 x 10e has how many significant figuers?
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Biology lab
Chemistry lab
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l-some molecules move with speeds approaching the ooescape velocity" from

earth, which is 7.0 miles per second. What is this speed in cm /h? (1 mile

-1609m)

D. 1.1 x 106ri

F?

A.313

4.2 8.3 c.4
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4- How many significant figures are there in 1.3070 x 102?

4.2 B.3 c.4 D.5

5- Do the indicated arithmetic and give the answer to the correct number of
the significant figuers. (1.500 + 61.326) + 2.Al:

432.0 B. 31.2 c.3t.25 D. 31.3

6- When 7.02 C is converted to the fahrenheit sacle, how many significant
figures are there in the F result?

A.1 8.2 C.3 D. 4

7- The density of mercury is 13.6 g/cm3 . How many liter dose 251gof Hg
occupy?

A.18.5L 8.54.9L C. 1.85 x 102 L D.5.42 x 10-2L

8- The density of Mg is 1.74 glcm3.what is the mass of magnesium btock that
measure 2.5 cmx 3.5cm x 1.5 cm?

A.48g 8.23g C. l2g D.7.5g

9-Element in the group 7 A are known as the?

A.chalogens B. alkali metal C. halogens D. Nobel gases

10- The ions Ca*2'n' Pon-' form a salt with the formula?

A.CaPoa B.Ca2 (Po4)2 C. Ca3 Go+): D. Ca3 (Poo),

11- Which of the species make an isoelecteric pair (CL-'rCrrK, S-', Fe*3; ?

A. CL-t and S-2 B. Cl-land Ca C. Ca and Fe*3 D. none of these

12-How many moles of HCL are represented by 1.0 x 10le HCL rnolecules?

B. 1.5" 10-39 C. 1. 0" 101egA. 1.7x 10-'

2/6

D. 36.5



j*ffi61E,&"frr-src[
\Aalt 9 \*r.igt 9 Z44bil i3L*i'irl :1- dltaeL+rt, :\bJ Aaa;fr,* &t 2Lifiat 9 i.ritaa i3l-29s

O78 570 6008 ' +1-11 07B 570 60A6 , !Lce,

13- What is the mass of 7.80x 1018 carbon atoms?

A. 1.30x 10-'g 8.6.43* 103 g C. 7.80x 10" g D. 1.56x 10-o g

14-the number of proton, neutron and electron in S-2 are and

......respectively.

A.16,32,16 B. 16,16,16 c.16,32,18 D. 16,16,1 8 8.16,16,14

15- How many sulfer atoms are there in 21.09 of AIzSr?

A.8.42x lo22 8.2.53x 1023 C.2.l4x 1023 D. 6.02x 1023

16- How many gram of Cl2 can be prepared from the reaction of 16.0 g of
Mn02 and 30.0 g of HCI according to the following chemical equation ?

MnO2 +4 HCI 

-- 

--+ MnCI2 +CIz + zIJzO

A. 0.82 B.5.8 c. 13.0 D. t4.6

17- Calculate the mass of excess regent remaining at the end of the reaction in

which 90 g of SOz are mixed with 100 g of Oz ?

2SO2+ Oz + 2SO3

A. 1 1.5 8.22.5 c. 67.5 D.77.s

18- The first step in the process for producing nitric acid is

4NH3 + 5Oz 
----) 

4NO + 6H2O

If the reaction of 150 g of ammonia with 150 g of oxygen gas yields 87 g of
nitric oxide (NO), what is the percent yield of this reaction?

A. t}a % 8.49 % c.77 % l). 55 "/o

3/6
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19- The molarity of an aqueous solution containing22.Sgof CpH22Orr in 35.5

mL of solution?

A. 0.0657 B.1.85 c. 3.s2 D. 0. 104

20- What volume of concentrated solution of 6.00 M NaOH must be diluted to

200 mL to make 1.50 M solution of NaOH?

A. 0.0500 mL B.50.0 mL C. 45.0 mL D. 800 mL

21- The molar mass of Mg (ClO4)2.6HzO is

A.132 g/mol 8.231.8 g/mol C.295.8 g/mol D.33 1.3glmol

22-which solution contains the largest number of moles of chloride ions?

A.7 .50 ml of 0.500 M FeCl3

C. 10.0 ml of 0.500 M BaClz

A. set point

D. end point

B. 4.00 ml of 1.00M NaCl

D. 30.0 ml of 0.100 M CaClz

23-the point in a titration at which the indicator color change is called the

B. Indicator point C. standard point

E. equivalent point

24-round the nurnber 3.995 to two significant figures?

4.3.9 B.3.0 c.4 D.4.0

25- if the reaction of unknown amount of O2 with 13.5 g of Al produced 16.29

(actual yield) of AlzOr :t[A.l + 3Oz 2AlzO3, calculate the mass of
excess reactant left at the end of reaction if the percent yield of the reaction is

79.4 o/o

4.2.7 8.6.9 c.t.2 D.3.9

416
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Ouestion No. Answer Ouestion No. Answer

1 A t4 D
) D 15 B

3 C t6 C

4 D 17 D

5 D 18 C

6 C t9 B

7 C 20 B

8 B 2t D

9 C 22 A
10 D 23 D
11 A 24 D
t2 A 25 A
13 D

o?tqAS\3 53r1i-B.:
6=6go477 62 , "e.,F\ y*.?

o78635 t-l€40

o+E4z-iq5 ff:
o1864ntt V 4

,'---:y:P. $; . f
, !'\iJ' :'-i F

. '/-z'...-1 ^.g. e

;r& r"n *ilL d+*r.=r1.5*.
3-a'a:,5^ c:l-;3J l*Jta--Jl+ fS's}=

(JiJl=#r4ll csljt-=i3.6Y
{ .;_ _gxl--ll (=tJt€i . €j*l+i! }

d:h*jE+E=431 r-r-s. -i**;at=*-elt a3'* A$.: 6"^
lt};ra5706o(}a rg.--r-tt .r-:t E,ii*' -' ill*J Jr*Jl il++r-''Ll

( ":".311=ll .-"-pB e5--: . .Jp-a:.lJl . Ei-31 c .-.5-1=ll f*l ) C""-5E5 .al GJe

6/6


